Electric Motor

(IE3 Standard)

HFEV Model

HFEH Model

® Conforming to CNS 14400 |IE3 National Standard.
® Enclosed Fan-cooled, 2 or 4 Pole motor.
® Enclosed class: IP54 or IP55.
® Voltage:220/380V
® Safety Factor: S.F.1.0
® /nsulation class: F
®Frame: 80M~225S
® Output: THP~75HP (0.756KW~55KW)
® Model: HFEH Horizontal type
HFEYV Vertical type

mmmm—— 1 | Copyright © EVERGUSH. All rights reserved. @ R www.evergushpump.com.tw



Electric Motor 00800

o9

EVERGUSHE

k (IE3 Standard)

A Performance Data

&t outpuT . &7 (A) CURRENT #3B TorauE MR (%) EFFFICIENCY ThERE (%)

aw| iE% ’ﬁ§§
gh | #E ErAME Egklé w5 | s wE | 28 | 2 maEl gs | 88 boE) g8y | 8ag
HP | kw | P | Mo an | cons | roror | Fikam |rorosen |oomia| 100% | 75% | so% | 100% | 5% | sow

Loap | Loap | LoAD [ LoaD | LoaD | LoaD
80M |3475 3.0 | 29 | 0.21|400(430| 83 |82.3(79.1| 79 |70.5|57.5
80M (1735|3.2 | 30 | 0.42|430(460| 85.5|84.2| 80 71 |61.5|48.5
90L |3465|5.2 | 44 | 0.42|360(370| 85.5|86.1( 85 89 (85.5| 78
90L |1725|6.0 | 42 (0.85|320|350| 86.5| 87 |85.8| 76 [69.5| 57
9oL (3475|7.6 | 70 | 0.62|310(260| 86.5|87.2|86.5|87.5| 83 | 73
100L (1740 (8.0 | 76 | 1.23(310|330| 89.5 (89.9|88.7( 81 75 | 63
112M|3515| 12 | 112 | 1.03 | 280|370| 88.5 | 88.7(87.7| 89 |85.5|78.5
112M|1760 | 14 | 127 | 2.05(290(310| 89.5|89.4|88.1| 77.5|70.5| 58
132S(3515( 18 | 135 | 1.52 | 240|280 89.5 (90.1|89.5( 87.5|86.5| 82
132S (1765 19 | 142 | 3.04 | 280 (300(91.7 [91.5|89.9| 81 |76.5(66.5
132S|3515| 25 | 183 | 2.08 | 260|270 90.2 91 (90.7| 87 [85.5| 80
132M|1765 | 27 | 199 | 4.14 | 290 |300| 91.7 | 91.7(90.7| 80.5| 76 | 65.5
160M|3535| 35 | 266 | 3.03 (230|320 91 |91.2|90.1| 91 [(89.5| 86
160M|1770 | 38 | 320 | 6.05 | 270 (280| 92.4 | 92.6|91.7| 82.5| 79 |70.5
160M|3530 | 48 | 340 | 4.14|210(310| 91 |91.5(91.1| 90 89 | 85.5
160L |1765 | 51 | 342 | 8.28 | 260|290 93 |[93.5(93.2( 83 79 | 70.5
160L |3550 ( 59 | 581 | 5.08 | 240|260 91.7 | 92 (91.3( 89.5( 87 | 81
180M|1775| 64 | 417 | 10.2 | 250|260| 93.6 | 93.9(93.4| 81.5| 78 | 69.5
180M|3545 | 71 | 557 | 6.04 | 220 (280| 91.7 | 92.1|191.3| 88.5| 88 |84.5
180M|1770| 74 | 433 | 12.1 [ 220 (230| 93.6 | 94.3|94.3| 83 81 (74.5
180L (3540 | 95 | 566 | 8.25 [ 200 |290| 92.4 (| 93.2|92.9( 89 |88.5|85.5
180L|1770 (103 | 615 | 16.5|210|240( 94.1 | 94.7(94.5| 81 78 | 70
200L |3550 (118 | 840 | 10.2| 180|310 93 (93.2(92.6| 88.5| 87 | 82
200L (1775 (123 | 949 | 20.3 | 270|280| 94.5(94.9|94.5(83.5| 80 |71.5
200L |3550 (141 |1013| 12.3 180|290 93.6 | 94 [ 93.8| 89.5 | 88.5| 85.5
200L (1775 (148 |1005| 24.7 | 190|260 95 [(95.4|95.1| 84 |81.5( 74
225S (3575 (171 |1553| 15 | 220|320 93.6 [ 93.7| 93 90 (88.5| 83
225S 1790|187 | 1585( 29.9 | 270 |300( 95.4 (95.5(94.9| 81 |76.5|66.5

BN B | Copyright © EVERGUSH. All rights reserved. @ WWMEVEI'yIISIIplImP.COIII. tw

1 ]0.75

7.5 |5.5

10 |7.5

15 | 1

20 |15

25 [ 19

30 | 22

40 | 30

50 |37

60 | 45

75 | 55

BINIBAIN|IAINIDINIBDINIAIN|IEINIDINIBDINIBEINIBAINIPDINIDINIPMIN




f Q)
Electric Motor 00080

(IE3 Standard) 26

LYHRGUSIIE
|HFEH-SERIES |
AC
AD
. nn
E ‘ ﬁ —DH-M, ¥D
A
FLT

G

J%Ii

e

DH-M

AdDimensions it Wi
1E8% |[HIOUTPUT(HP) #ik SHAFT END
YAC | AD | ¥KK| AE HB L LA M N P S T
FRAME NO. 2P 4P E [E[D) YD| F GA G DH
80M 1 1 180 146 118 296 [12 40 | 30 [19] 6 [ 215 155 | Me*12L
ooL [ 2,3 2 |207]164] 2% [127 327 [10] 02| 130|200| 12 |35 Mo T 0 (24 8 | 27 | 20 | Me*20L
100L - 3 [223]|183 155|146| 378 |15
oM 5 = T2230 183 28 M55 152 382 1111215 180|250 el 60 | 50 [28| 8 | 31 | 24 |M10*25L
1325 |7.5, 10| 7.5 450
Er] -~ 7o 1286|225| 35| 179 184 — —=— 12| 265| 230|300 80 | 65 [38| 10| 41 | 33 |M12*25L
160M115.201 15 |359]95( 52 |230]|213 892 {19|300|250|350] 185 | 5 42| 12| 45 | 37 |M16*36L
160L| 25 20 647 _—
18oM| 30 [25,30 676.5 48| 14| 515 | 425 [M16*36L
180L | 40 20 | >90|345]| 63 285|260 7751 15| 350|300 400 55| 16| 59 | 49 | M20*42L
50,60 - 772.5 110]| 90 |55]| 16| 59 | 49
200L = 5060 442|365 63 | 301|288 £ 21 19| 400|350 | 450 | 185 | 5 [ == m = = o= M20*42L
75 - 828.5 110]| 90 |55 16| 59 | 49
225S — S5 487(457| 91 345|312 2= 22| 500 450 | 550 120l 110Tes 18] 69 | 58 | M20"42L
&SR #iix SHAFT END & BEARING iRE
L HA | AA BA AD
FRAME NO. E ED | ¥D| F GA G DH =S 0.S ATP P('fgs(‘)w
80M 270 8 | 35 = 146 40 | 30 (19| 6 [ 21.5| 15.5 | M6*12L | 6204ZZ 6204722 16
oO0L 327 10| 40 = 164 50 | 40 (24| 8 27 20 M8*20L | 620527 62057272 25
100L 378 12| 40 - 164| 60 | 50 | 28| 8 31 24 |M10*25L | 6206Z2Z| 6206ZZ 32
112M 382 12| 40 o 180 60 | 50 (28| 8 31 24 | M10*25L | 620722 6206227 43
132S 450 15| 50 - 213| 80 | 65 |38]| 10| 41 33 |M12*25L | 6308Z2Z2 6208Z2Z 67
132M 488 15| 50 - 213| 80 | 65 |38| 10| 41 33 |M12*25L | 630822 6208Z2Z 74
160M 603 18| 60 . 275|110 90 |42| 12| 45 37 |M16*36L | 631022 620822 113
160L 647 18| 60 - 2751 110| 90 (42| 12| 45 37 |M16*36L | 6310ZZ| 6208Z2Z 136
180M | 676.5 | 20| 60 | 82.5|340|110| 90 (48| 14| 51.5 | 42.5 |M16*36L | 6310Z2Z| 621022 ]Zé
6312C3| 6212Z2ZC3 | 202
t3
180L | 7145 (20| 60 [ 82.5|340|110| 90 |55| 16| 59 49 | M20*42L 6312771 6212223 | 212
772.5 110| 90 | 55| 16| 59 49 | M20*42L | 6312C3| 6212C3 290
200L 2
00 802.5 0| 80 80 |353 140(110|60| 18| 64 53 | M20*42L 631322 6212ZZ 290
790 110 90 |55 16| 59 49 | M20*42L | 6312C3 6312C3 390
25 820 @n | = J=p | 840 140(110| 65| 18| 69 58 | M20*42L | 631522 6312272 388

BN B | Copyright © EVERGUSH. All rights reserved. www. evergusllpllmp. com.tw




Electric Motor 00800

=<0
O
(IE3 Standard) e
| HFEV-SERIES |
0 B2 Bolt 5
HB /(#100L~180L) HB
(o

| LA

19
Z i
@D
45°C
11°C
Bolt IFE1E12
#112M

HOLES

AdDimensions

183% |HOOUTPUT(HP) 8% SHAFT END
YAC| AD | YKK| AE | HB = LA| M N P S T
FRAME NO. 2P 4P Ef ED | ¥D| F | GA G DH
80M | 1 1_1180{146 118 296 |12 40 [ 30 [19] 6 [ 215 155 | ME*12L
- 35
0L | 2,3 | 2 |207]164] 22127 327 [10] 9| 130|299 12 50 | 40 [24] 8 | 27 | 20 | M8*20L
0L - 3 |223[183 155|146| 378 |15 i
VIR = T2431 1831 28 o512l 382 111219 180|250 el 60 | 50 |28 8 | 31 | 24 [M10*25L
1328|7.5,10| 75 450 ' .
oo — 15 ]286|225| 35 | 179 184 — 22— 12| 265 | 230 | 300 80 | 65 [38(10| 41 | 33 [M12*25L
160M1 15,20 15 1 359|295| 52 | 230|213 222 19[300| 250|350 | 185 | 5 42| 12| 45 | 37 |M16*36L
160L| 25 | 20 647 176 | @6
180M| 30 |25,30 676.5 48] 14515 425 | M16*36L
2852
180L| 40 | 40 |0 |34°| 03| 265|260y, 5 19| 390|300 400 55| 16| 59 | 49 |M20*42L
50,60 | - 772.5 110] 90 |55| 16| 59 | 49
200L 2 2 185 20*42L
00L === 5] 442|365 63 | 301|288 - >"~1 19 400 350 450 5 M20T110Te0 181 6a 53 | M20%
7| = 828.5 110| 90 |55| 16| 59 | 49
22 2 22 20*42L
5S g ] 487|457| 91| 345|312 = 500 | 450 | 550 @0 6l ecl1al & | Bg | V20

BN B | Copyright © EVERGUSH. All rights reserved. @ —— www.evergusllpllmp.com. ftw



	HFEH-EN-1
	HFEH-EN-2
	HFEH-EN-3
	HFEH-EN-4

